
Item No. Scratching Post Height Color 

44461 Pepito 39.4 in.
100 cm gray

Pos. No. Description Measurement Quantity Item No. 

Pos. 1 Bottom plate 18.9 x 18.9 x 1,18 in. 
480 x 480 x 30 mm 1 44461-10

Pos. 2 Scratching board 6.7 x 14.96 in. 
170 x 380 mm 1 44461-11

Pos. 3 Middle platform 18.9 x 18.9 x 0.59 in. 
480 x 480 x 15 mm 1 44461-12

Pos. 4 Cave, foldable 12.6 x 12.6 x 11 in. 
320 x 320 x 280 mm 1 44461-13

Pos. 5 Bed with toy on string 17.7 x 11.8 x 3.9 in. 
450 x 300 x 100 mm 1 44461-14

Pos. 6 Post, plush DIAM 2.7 x 13.7 in. 
ø 70 x 350 mm 3 44461-20

Pos. 7 Post, plush DIAM 1.37 x 9.8 in. 
ø 35 x 250 mm 4 44461-21

Pos. 8 Post, sisal DIAM 2.7 x 13.7 in. 
ø 70 x 350 mm 1 44461-22

Pos. 9 Post with spacer bolt, plush DIAM 2.7 x 5.5in. 
ø 70 x 140 mm 1 44461-23

Pos. 10 Post with spacer bolt, plush DIAM 2.7 x 8.6in. 
ø 70 x 220 mm 1 44461-24

Pos. 11 Hammock DIAM 12.99 in. 
ø 330 mm 1 44461-30

Pos. a Countersunk screw M0.3 × 1.38 in. 
M8 × 35 mm 14

44461-60

Pos. b Countersunk screw M0.3 × 1.18 in. 
M8 × 30 mm 1

Pos. c Countersunk screw M0.3 × 0.36 in. 
M8 × 16 mm 2

Pos. d Thread rod
M0.3 × 2.56 in. 
M8 × 65 mm

2

Pos. e Allen key 1

190422 TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com 70987

Assembling Instruction & Parts List
#44461

E Advice
 This product should be assembled by an adult. 
 Please check the screws regularly and retighten them if necessary.
 Please assemble the scratching tree top down!

Pos. a

Pos. b

Pos. c

top
down

5

9
10

11

8 7
7

7 7

4

3

6
6

6

2
1

d

d

a

a

a

a
a

a

a

a

a

a

a

a

a

a
b

c
c

Pos. d


